Staffordshire and Shropshire Contract Bridge Association
[ 11 ]
Away v Oxfordshire 8th Oct 2017
‘ ‘ ‘ ‘ Butler
Staffordshire team Match results
Dave Beavons & Roger Keane 8 1st team Staffs & Shrops won by 13
Pa er & Geoff Davie (18) The Dawes V.P. 11-9
3 Barbara Hackett & Dan Crofts (10)
4 e Cornes & Annette Luca 40
5 Alma Richards & Norman Jones 16 2nd team Oxfordshire won by 101
6 Keith Shuttleworth & John Waller 18 The Porter V.P. 4-16
7 James Vickers & Martin Church (51)
8 Kath Adams & Mike Beach (35)
9 Helen & Peter Lees (26) 3rd team Oxfordshire won by 93
10 Jeff Jones & Dom Wilson (48) The Markham V.P. 4-16
11 Terry May & John Hartley 9
12 Judy Mitchell & David Alderson 9
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1 13 |3NT| W | 0| 8 50 |14 3NT | W 0 |10 (430) || 3 15| 3NT W Dx | 8 50 16 M 5| E| 0|10, 50
1|5 17 (3NT| W | 0| 9| (400) (18 6 |[3NT| W |D5| 8 50 7 19| 3NT W D5 | 11| (400) [20 | 8 |3NT|W |D5| 8 50
1 21 |3NT| W | 0| 8 50 |22 10 | 3NT| W 0 | 10| (430) |11 23 3C E 0 9 | (110) (24 12 |3NT|W/|Dx| 10| (430)
2 13 (Pass| 0 [0| O 0 14 Pass| O 0|0 0 3 15| 2NT E Sx | 8 | (120) |16 MMM Pass| 0| 0 | O 0
2|5 17 |Pass| O 0|0 0 18 6 |[Pass| O 00 0 7 19 | Pass 0 0 0 0 20 | 8 |Passi 0| 0| O 0
2 (9 21(3D| W | 0| 9| (110) (22 |10 [INTX] W | O | 4 | 500 ||11 23| 2C N 0| 9| 110 |24 12 |Pass| 0| 0| O 0
|
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3 13 | 3D E 0|12 (170) (14 5C W 0 | 12| (620) 3 15 5C W Sx | 12| (620) |16 W AD | E| 0|12 (170)
3 (5 17 |3NT| W 0| 7| 200 (18 6 5C E SA | 12| (620) 7 19 4D E SA | 12| (170) |20 | 8 | 5C |W|S2| 8 | 100
3 (9 21| 3C E 0|12 (170) |22 {20 | 5C W 0 | 10| 100 11 23 2S S 0 9 | 140 (24 12 | 4D | E |SA| 12| (170)
4q 13 | 4S E 0|10/ (620) (14 2S E 0 | 10| (170) 3 15| 3NT E Cx | 8 | 100 |16 B 4S | E| 0 |10 (620)
4|5 17|iNT| E |0 2| (120018 6 | 4as | E |s2]10] (6200|| 7 19| a0 | E | s2 10| (620)|20 (8 | 35| E D3| 9 | (140
4 19 21| 4S E 0| 9| 100 (22 10| 4H W 0|9 100 11 23 4S5 E 0 | 10| (620) (24 12| 3S | E|Sx| 9 | (140)
5 13 | 3H S 0| 9| 140 |14 3H S 0 8 | (100) 3 15 3H ) SJ 8 | (100) |16 M 4H | S| 0| 9 | (100)
5|5 17 |2NT| W 0| 8| (120) |18 6 4H N S3 | 8 | (200) 7 19 3H S SJ 8 | (100) (20 '8 | 3H | S|SJ| 9| 140
5(9 21| 2H N 0| 8 | 110 (22 10| 4H S 0 8 | (200) |11 23 3H ) 0 7 | (200) {24 12 |INT| N| O | 5| (200)
6 13 | 3D E 0| 8 | 100 |14 2H S 0 |10| 170 3 15| 3NT E Cx | 9 | (600) |16 M BH|{N| O | 8 (50)
6 |5 17| 3D E 0| 8 | 100 (18 6 2H S H2 | 10| 170 7 19 2C N D3 | 6 | (100) [20 | 8 |2NT| E |ST| 7 | 100
6 (9 21| 2H S 0|10| 170 (22 (10| 3C S 0 6 | (150) |11 23 2H S 0 9 | 140 |24 12| 2S | N|HA| 9 | 140
7 13 [|3NT| W 0| 8 | 100 |14 5D E 0 | 10| 100 3 15| 3NT W Sx | 8 | 100 |16 B 5 |W| 0]10| 100
7 |5 17 |3NT| W 0| 8 | 100 |18 6 |3NT| W |S2| 8 100 7 19| 3NT W SJ 8 | 100 |20 '8 [3NT|W|S2| 8 | 100
719 21| 4H W 0|10 (620) (22 |10 [ BNT| W 0 8 100 11 23 | 3NT W 0 8 | 100 |24 12 |3NT|W|SJ| 7 | 200
8 13 | 2D N 0| 9] 110 |14 2Hx | W 0 5 | 500 3 15 2D ) Sx?| 9 | 110 |16 B 2H|{ N| O | 7 (50)
8|5 17| 2S W 0| 7 50 18 6 3D N H7 | 10| 130 7 19 2H W DT | 4 | 200 (20 [ 8 | 2H | W |DT| 4 | 200
819 21| 3D N 0| 8 | 110 (22 10| 2D W 0| 9| 110 11 23 2D S 0 9| 110 |24 12| 2D|N| O | 9 | 110
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9 14 | 1Sx ) 0| 3 | (800) |13 4S W 0| 9| 100 3 16| 3NT E DK | 11| (660) [15 BSM3NTX E | O | 10| (950)
9|5 |18 |3NT| W | 0| 11| (660) |17 6 | 25x S Hx | 3 |(1100)|| 7 20| 2Sx S CA | 3 |(1100){19 | 8 [2Sx| S |CA| 3 |(1100)
9 |19 [22 |3NT| E 0|11 (660) (21 [10 [ BNT| W 0 | 11| (660) (|11 | 24 | 2S5x S 0 3 1(1100)|23 12 |2Sx| S |[CA| 3 |(1100)
10 14 | 2S ) 0| 8 | 110 |13 2S N 0| 9| 140 3 16 3C S HK | 7 | (200) (15 B8 3NT| S| O | 8 | (100)
105 |18 | 2S N 0| 7 | (100) |17 6 4S5 N HT| 9 | (100) 7 20 3S N HT | 7 | (200) |19 ' 8 | 2S5 | S |HK| 8 | 110
10|19 |22 | 3C ) 0| 7 | (200) |21 {10 | 2H W 0| 7| 100 11 24 2S S 0 8 | 110 (23 12 | 4D | N |HT| 8 | (200)
11 14 | 2S E 0| 9 | (140) |13 4S5 E 0|9 50 3 16 4H W Dx | 8 | 100 |15 B 2D| S| 0| 7 (50)
11|5 |18 | 2S W 0| 9 | (140) |17 6 4S5 E DK| 9 50 7 20 4H E DK [ 10| (420) |19 | 8 | 4H |W |D6| 7 150
11|19 |22 | 2S W | 0| 9| (140) |21 [10 | 3H W 0| 8 50 11 24 3C 0 6 | (150) |23 12| 2S |W|HJ| 9 | (140)
12 14 | 7H W | 0]12| 50 13 4H W 0 | 12| (480) 3 16 6H W DA [122| (980) (15 B 6H | N| 0 | 13|(1010)
12 |5 |18 | 4H W 0|13 (510) |17 6 |[5Hx| W |H2|11| (750) 7 20 6H W DA | 13|(1010){19 | 8 | 6H | W|DA| 13| (1010)
12 |9 |22 | 5H W | 0|12 (480) |21 {10 | 5H W 0 | 12| (480) (|11 24 4H W 0 |12 (480) (23 12| 6H | W|DA| 12| (980)
13 14 | 4H S D|12| 680 |13 4H N 0 |12| 680 3 16 4H N DK | 11| 650 |15 B 4H | N| 0 | 12| 680
13 |5 |18 | 4H N 0|11| 650 (17 6 4H N DK| 11| 650 7 20 4H N H3 |12| 680 |19 ' 8 | 4H | N |DK| 12| 680
13 |9 |22 | 4H N 0|11| 650 (21 10| 4H N 0 |12| 680 11 24 4H N 0 10| 620 |23 12| 4H | N |Hx| 11| 650
14 14 | 3D W | 0] 9] (110) (13 3S S 0| 9| 140 3 16 4S S DK | 8 | (100) (15 @ 35|/ S| 0| 7| (100)
14|15 |18 | 2S S 0| 8| 110 |17 6 |5Dx| W |S5|10| 100 7 20 2S S D6 | 8 | 110 |19 8 | 3S | N |DA| 8 (50)
14|19 |22 | 2H E 0| 8 | (110) |21 [20 | 4H N 0 | 6| (200) (|11 24 | 5Dx W 0 | 10| 100 (23 12| 4C | N|DK| 8 | (100)
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15 14 | INT| W 0| 7 (90) (13 3H N 0 9 140 3 16 2S W Hx | 8 | (110) |15 B 4H | N| 0| 8 | (200)
155 |18 | 2S W 0| 9 | (140) |17 6 3H N cl 9 140 7 20 2S W DK | 8 | (110) (19 ' 8 | 2S5 |W|C7| 8 | (110)
15|19 |22 | 2S W 0| 8 | (110) |21 10| 2S W 0 7 50 11 24 2S W 0 8 | (110) ({23 12| 2S |W|HK]| 8 | (110)
16 14 | 4S W 0| 8 | 200 |13 4S W 0 9 100 3 16 4S W DQ| 9 | 100 |15 @& 4S |W| 0| 9 | 100
16 | 5 |18 | 4S W 0| 8 | 200 (17 6 3S W | D7 | 9 | (140) 7 20 4H W C2 | 8| 200 (19 8 | 35S |W|D7| 9 | (140)
16 | 9 |22 | 4S W 0| 9| 100 (21 ‘10| 4S W 0 8 | 200 11 24 4S W 0 8 | 200 |23 12| 4S |[W|HK| 8 | 200
17 15 [|3NT| W 0| 9 | (400) |16 3NT| W 0 | 10| (430) 3 13 6C E HJ | 10| 100 |14 B 6C | E| 0|12 (920)
17 |5 19 |3NT| W 0|10 (430) (20 6 [3NT| W Hx | 10 | (430) 7 17 | 3NT W H5 | 10| (430) [18 ' 8 |3NT|W |H5| 10| (430)
17|19 23| 5C E 0| 9| 100 (24 [10 | 3NT| W 0 | 10| (430) (|11 21 | 3NT W 0 | 10| (430) {22 12 |3NT|W |H5| 10| (430)
18 15|25 | w |o]| 8| (110 |16 4H| N o |8|@oo)ll3 13| 30 | s | ss| 8| (100) (14 WM 21 | s| 0| 7 | (300)
185 19| 3H S 0| 8 | (100) |20 6 4H S SJ | 7 | (300) 7 17 2C N S2 |1 9] 110 |18 /8 | 2S | E |HJ| 7 50
1819 23| 3S W 0| 7| 100 (24 10| 3H S 0 9 140 11 21 2H S 0 10| 170 |22 12| 2H | N|C8| 9 | 140
19 15| 1H E 0| 6 | 100 |16 INT S 0 7 90 3 13| INT N HQ | 7 90 14 S INT| N| O | 7 90
19| 5 19 |INT| S 0| 7 90 20 6 | INT S S7 | 8 120 7 17 | INT ) SK | 9| 150 [18 [ 8 |2NT| S |SK| 8 | 120
19|19 23 |INT| S 0| 8 | 120 (24 10 | 2NT S 0 8 120 11 21| 2NT S 0 9 | 150 |22 12 |INT| S |Cx| 9 | 150
20 15 |6NT| W 0| 13|(1470)|16 6H W 0 | 13 |(1460)f] 3 13 | 6NT W Dx | 13 |(1470)| 14 BB 6NT| W | 0 | 13| (1470)
205 19| 6C E 0 |13 ((1390)|20 6 6S E H6 | 12 | (1430)|| 7 17 6S E DT | 12 |(1430)(18 | 8 |6NT| W |D8| 13 |(1470)
2019 23| 6S E 0|13 |(1460)[24 [10 | 6S W 0 |12 |(1430)(j11 21 6H W 0 | 13|(1460){22 12 |6NT|W|C4| 13|(1470)
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21 15/5c| N | 0] 9] (200 |16 sH | w | o |11 @s0)||3 13| aH | E |sal11] (450) |14 W 2H 0| 11| (450)
215 19|4n| w |0 |11 (450)|20 6 | 4H | E |col11| @s0)||7 17| 3H | w | ca 11| (200)|18 '8 | 4H | E C7| 11| (450)
2119 23| 4H E 0| 11| (450) |24 {10 | 3H E 0 |10 (170) |J11 21 4H E 0 |111| (450) ({22 12| 5H Cx| 11| (450)
22 15 |4Hx| E | 0] 10| (790) |16 3p| E | 0 |11] (150) || 3 13| sD sk | 11 (600) |14 IFW 30 011/ (150)
22|15 19| 3D E 0|11 (150) |20 6 4D E C2 |11 (150) 7 17 | 4Hx D9 [ 10| (790) |18 | 8 | 3D D9| 10| (130)
2219 23| 5D W 0| 11| (600) |24 {10 | 4D 4 0 |11 (150) |j11 21 3D 0 |11 (150) (22 12 |5Dx Cx| 11| (750)
23 15| 45| w | 0|10/ (620) |16 as | w | o|10] (6200||3 13| sH | s | sx| 9| (200 |14 M 25 |w| 0 |10 (620)
23 |5 19| 4S E 0|11 (650) |20 6 4S5 W D7 | 10| (620) 7 17 4S5 W C9 | 10| (620) |18 | 8 4S |W|D7| 11| (650)
2319 23| 4S W 0| 10| (620) |24 [10 | 4S W 0 | 10| (620) ||11 21 4S W 0 | 10| (620) {22 12| 35S |W|Dx| 10| (170)
24 15|44 | E | 0|10/ (420) |16 INT| E | 0 10| (180)||3 13| 4H | E | ox|10]| (420) |14 Wl 3+ | €| 0 | 11] (200)
24|5 19|44 E [0]10] (420020 6 | 3H | E |D3|11] (20007 17| a0 | E | D3| 11| (450) [18 ' 8 |1NT| E |D3] 10] (180)
2419 23| 2H E 0|10 (170) |24 {10 | 4H W 0 | 11| (450) [|11 21 3H E 0 | 10| (170) (21 12| 2H| E| 0 | 10| (170)
25 16 [3NT| S 0| 9| 400 |15 3NT S 0 6 | (150) 3 14 | 3NT S D3 | 10| 430 |13 BESMI3NT| S| 0| 9 | 400
25|5 |20 [3NT| S 0]10| 430 (19 6 | 3NT S D6 | 8 (50) 7 18 | 3NT ) D6 | 8 (50) |17 18 |3NT| S |DJ| 8 (50)
25|19 |24 [3NT| S 0| 8 (50) (23 110 | 3NT S 0 7 | (100) {22 22 | 3NT S 0 7 | (100) {21 12 |3NT| S |D5| 8 (50)
26 16 | 3C N 0|10| 130 |15 3C N 0 | 10| 130 3 14 2C E Cx | 9| (110) |13 M 2S 0| 8| (110)
26 |5 |20 | 4S E 0| 9| 100 (19 6 3D S S5 9 | 110 7 18 3C N C4 | 10| 130 |17 | 8 | 3S Ce| 9 | (140)
26|19 |24 | 3S E 0| 9 | (140) |23 10 | 2S E 0| 8| (110) (|11 | 22 3S E 0 8 | 100 |21 12| 2S D6| 9 | (140)
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27 16 [INT| W | 0| 8 | (120) |15 2D S 0| 8 90 3 14| INT N Sx | 5 (100) |13 WS 2D | S| 0| 8 90
27 |5 [20 |2NT| N 0|7/ (50) |19 6 | 2D S |H2| 8 90 7 18 | INTx| W | S2 | 8 | (280) (17 |8 [ 2D | S |H5| 8 90
27 |9 [24 [INTx} W | 0| 8 | (280) (23 /10| 3D S 0 | 7 | (100) |11 22| 2D S 0| 8 90 |21 12 (2Dx| S |H2| 8 | 180
28 16 | 4S | W | 0| 10| (420) |15 4 | W | 0 |10| (420) || 3 14| 45 | W | HK |10/ (420) |13 BB 4S |W| O | 10| (420)
28| 5 [20| 5D E 0|11 (400) |19 6 | 4D E |HQ|11| (150) || 7 18| 5D E H2 |100| 50 17 |8 | 4S |W|HK| 9 50
28 (9 (24 4S| W | 0|10 (420) |23 (10| 3S \W 0 | 10| (170) ||11 22 | 5Dx E 0 | 11| (400) |21 12 | 4D | E |HQ| 11| (150)
29 16 | 2C S 0| 7 | (100) |15 4Sx E 0| 8| 500 3 14| 3NT E Hx | 8 | 100 |13 B 2NT 0| 8| (120)
29 |5 (20| 3S| W |0| 7| 200 (19 6 | 2S E |C3| 8| (110) [ 7 18 2S E H5 | 8 | (110) |17 ' 8 |3NT H5| 7 | 200
29 |9 [24 |3NT| E 0 | 10| (630) |23 [10 | 4S E 0| 8| 200 11 22 45 \W 0O | 8| 200 |21 12| 4S Cx| 8 | 200
30 16 [ 3D | W | 0|11 (150) |15 3D | W 0|9 |(110)|13 14 2S E Cx | 7 50 (13 BB 3C (N | O | 7 | (100)
30(5 |20|3D| W | 0|10 (130) |19 6 | 3D W | C4|10] (130) || 7 18| 3D \W C4 | 11| (150) |17 '8 |2NT|W|C4| 5 | 150
309 (24 [3NT| W |##| 0 | (430) (23 (10 | 2NT| W 0| 5] 150 11 22| 2H E 0| 7 50 (21 12 |INT|W|Cx| 5| 100
31 16 | 4H S 0| 11| 650 |15 6Sx | N 0| 9 (800)|] 3 14| 3NT S Cx | 9| 600 (13 8 S5H | S| 0|11| 650
31|5 (20| 4H S |0|11| 650 |19 6 | 4H S |S6|11| 650 7 18 | 3NT N S4 110| 630 |17 |8 |3NT| S |C4|11| 660
31|9 |24 ]| 4H S 0| 11| 650 |23 [10 | 4S S 0 | 10| 620 11 22 45 N 0O | 8 |(200)]21 12| 4H| S |H9| 10| 620
32 16 | 1Sx | N 0| 9| 140 |15 INT| N 0| 6| (50) 3 14| 2H N Sx | 6 | (100) |13 W 1IS|N| 0 ]10| 170
32 |5 (20 ] 3C E 0|10/ (130) |19 6 | 2H N | SK| 9| 140 7 18| 3H S C5 | 7 | (100) |17 '8 | 1S | N|H2| 8 | 110
32|19 [24 ] 3C E 0|11 (150) |23 10| 3S S 0| 9| 140 11 22 1S N 0| 7 80 (21 12| 3C | E|H6| 9 | (110)
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Cross-imps

Pair 1

||

55
(92)
3

Pair 4
Pair 8
Pair 12

(42)
9
(96)

Pair 2
Pair 6
Pair 10

(23)
(105)
(17)

Pair 3
Pair 7
Pair 11

36
4
(76)

Pair 5
Pair 9




